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1. Paper 1 has two parts : Part | & Part Il
WA REINa oo s Newm 2

(3) Partl:Reasoning (50 marks)
a1 : 7% (50 marks)

(b) Partl: Elementary Mathematics (50 marks)
w7 2 1 {3 =R

ra Each section carries 50 otjective type of questions.
st A TRPAB e 3 o v Y R 2 |

3.  Thero will be four possible answers to every question. Candidates are
required to fill correct answer in the OMR sheet with Black ball pen.
Sis T3 ¥ wr Req 7 ag ¢ | Il arEETTER Y TR S Ty ot e
(OMR sheet) 4 3:d ot 83 & =¥ |

4. For each correct answer, Y mark will be granted and 0.5 mark will be
deducted for every wrong answer. .
mmmattm1aa&mmnﬂtwaémo.5x; 37T A ¢

S. It a candidate gives more than one answer, it will be treated as a wrong
answer and 0.5 marks will be deducted. There will be no penalty for questions left
unanswered.

qum1!53!‘1&‘&““emm‘ﬂ‘(mmmmmmo‘sa‘m
S |

6. Candidates should not mark in the question pazer. They can use blank

es provided In the question paper for rough work,
pag :wﬂmviﬁﬁmmnofm'lm|Nerd’3faqunnsmaa'q

Tl 0 @ guaty I |
7. Tobe eligible to qualify, candidate must obtain minimum 40% marks each

i |
in Part! & Il separately and a minimum of 50% aggregate in total.
" ath-fs’r‘tpeif?mm‘ldz‘r-ﬂmﬂmlmwftuimmuﬂuw%

ah zq 36 o1 50% arn sPE



Part | : Reasoning {50 marks)
uI g 2 o (50 marks)

fa
o wen'y
Directions In each of tre folloving questions, select the related word from the ghven
atematives -

PRy 43 Ry m @are 4 Re w1 RFE @ w7 v g1 |

@ Timd:Ass ::  Cunning:?
(a) Ant m Fox {t} Rabbt {d) Horse
Q2 Antonyms:Synonyms  ::  Analyss:?

(3} Synthesis (b} Synchronize (¢) Simplfy  (d)  Summarise
@ Editor : Newspaper ::° ?:7

(a) Farmer:Sel{d) Wal:Mason({c) Chef:Knie .;d]Poel:Poem

Q4 Amnesia:Memory ::  Paralysis: ?

(a) Legs (b) -k'.ovemenl {c} Limbts {d) Handicapped
Q5 8:81:: 10:?

(@ 100 b)) 121 {c) 120 ¢ M

Select the word-pair in ‘which the two words aze related in the same way as are the
Wo words in the word-pair Spoke : Wheel
A Rest 3 v=) F1 @ S g @ Spoke : Wheel % avr sqa 3
Lo :

J9  Yerd ; Sentence
(b}  Pnnter : Cemputer
(¢}  Square :  Side
(&) Tree - Branch

Q.7  Select the set in which the numbers are related in the same way as are the
numbers of the following set. (16,64,8)

At et @ 2 Rieer ot ot (16,64,8) @ ae wehx € |

(@) (15608 (b)) (18906) (c} (10.80.8) (& (14624

@ AC:CF::M0:.?

@ OR ® PO @ oa g OF




ECD: YVXW ::DGEF:?
[Ba) WVRTS  _{b) WIW (€} WUV ST

'M.bﬁ. is Bs sister. G is B's mother. D is C's father. E is D's mother, gy, how is A

g |

othe (b}  Daughter
((2]J gzrr:gmerr Jd Granddaughter
(a) (b) 34
(c} = (d) o

A and B are brather and sister respectively. C is A's father, D is C's sister and E is
D's mother, How is Brelaled to E ?

ARBEIM M IR ICATRME IDCHat (EDA A
d1BmEAwmmAmmt )

) Granddaughter (b}  Great Granddaughter
(c) Aunt {(d) Daughter

(@) b) TR

) =& @ &

@ Raghu and Babu are twins. Babu's sister is Reema. Reema’s husband is Rajan.
Raghu's mother is Laxmi. Laxmi's husband is Rajesh. How is Rajesh related to Rajan ?

VY S I R ¢ | I A T S 2 g S o e 2 | g @ A R E
BN B G0 [y 2 | TRA% T T A & e £ 7

(3) Father-in-law (b)  Cousin

€}  Uncle J&  Son-in-law
O ®)  whom

© == @ om

13/ Gogal said, peinting at Gavind, "His father is my father's . 4
relsted to Goving 7 m only son.” How is Gopal

m#mﬁmmmmmmﬁmﬂﬂmmﬁ s
e ® R A 7 e 47 g ey

{a) Grandfather (b) Grandson () Son Ad)  Father

(a) @ (b) (€) o (d) Rem




Directions: :
tions: Inthe following questions you have to identify th

given Oplions accord]ng to followin .
10Wing Symbois :
P P vt # Ry wo v @ s Rwe G (e

)
+

a correct respo se frcm the

Q.44. 1 -* stands for division *+' stands lor subtraction, "+'stands for multiplication, x

stands for addition, then which cne of the folicwing is correct ?
o e v, ' @ o ger, @ R T aR X @ ¥4 9 A I
S Rapen i el

(@) 70-2¢4+5x6 =44
(b)  70-244+56 =21
() 70-2¢44+5x6 = 341
(d)  70-2+4+5x6 =35

15} 1f '+ means *+', - means +', 'x’ means *-' and *+' means 'x', then 8+45+3x4 = 7
s Y aoad  Cwmaad e Yw S Y w s X W
§+4-6+43x4 =17

@) 4 () 14 (0 28 (@ 30

lf ‘' means '+, ' mears ‘X, '+ means ‘+' & X’ means ' then
IBX12+4+6+2-3=7
sRYE R Cwal Y, Yo, YEd Y B x12+4+
6+2-3=7
@ 2 @ 67 (@ 18 (¢ 42

Q.17 Which of the following interchange wou'd make the equation 8x20+3+9-5=38
correct 7
frafsieg o @ 2 T @ dedd d e 8x20+3+9-5=38 7 Am |

(@ (89 (b} (33 (c} 39 @ @8

Q.18 In the following question, by using which mathematical operators will the
expression becorne corect 7
@ w0 e aPdia woeot @ o @ @) IR W@ @ Tl

g ?2 2 ? 3 ? 4 ?2 3

(a8) + + <andx
(o) +,+>andx
€} x +=andx
(d) + +<and+




Qlighr1z3g7=21and 122 1£3=36,then14#2%0=7
sm18387=21and 124 183=36, 1 14424#0=,

V=
o w0 @ 8@ 7

@ A man drives his car 6 km towards west, then turns left and drives 3 km ang again
left and drives 3 km. Find out the final direction of the maan from his eriginal posdion,
@ Gy R o A 5 ARy warm 2 R ST R & o 3 e

aerar &, R A gzt @ 3R 3 P v & 1 @ ow o R g A A A
Rudd

Ad)  South-West (b)  North-West
" {c)  North-East (&) South-East

Directions: In each of the following questions, a series is given, with one term missing.

g;;ose the correct altemative from the given ones that will complete the senes.

1: ‘mm#wmﬂdtmﬁwmamﬁm? i e Ty Rt
AT A A @R |

Q21. 56,99, 132, 184, 248, 7.

(@ 368 () 316 {(¢) 2362 (d) 326
Q22 14,19,29, 49,89, 7.

@ 139 ® 149 (¢) 159 (d) 169
Q23. 225,289, 2, 441,

(3 361 () 375 () 383 (d) 386
Q24.2,5,9,7,20,27.

@ 14 ® 18 (@ 18 (@ 24
Q25 16.13,22.33,2

(@) 47 () 43 () 46 (@) a4

@ If SEVEN is coded as 23136 and EIGHT as 34579, whal wili be the code for
?

e SEVEN @1 @ 23136 2 3% EIGHT 5 #1% 34579 ¢  NINE =1 @3
aqr & |

‘/(a) 6453 (b) 6264 () 6346 (&) 6436



@ ifin 8rtain code, 'EDITION' is writlen as 3891¢65, then how “TIDE’ vall be written
imttiat code 9 :

g*ﬂn AR 31z W & ‘EDITION' 3891965 firar wan 2 @) ‘TIDE' &1 @18 31
7|
(a) 3819 () 1983 (0 1830 (d) 1586

PROHIBITION is coded as 62032124205. How will you code INHIBITION ?
PROHIBITION z @15 & 68032124205 | INHIBITION =1 23 Fanit |

1

(a) 2531214205
(b) 2532125205
(c) 2542124205

{dy 2532124205

Q.29. IFE=5, PEN = 35, then PAGE = ?
s E=5, PEN = 35 @1 PAGE @1 @te @i |

(a) 27 (b} 28 () 29 (d) 30

If MEAT is written as TEAM, then BALE s written
s MEAT TEAM faar @m 2 @t BALE & foran @om

(a) EBLA@ EALB () ELAB({d) EABL

if MIGRANT is coded as LHFQZMS, then how will GEL be coded as ?
¥R MIGRANT &1 @13 ¢ LHFQZMS & GEL &1 #13 &1 & |

@ OXK_¥ FOK (¢ IXZ (@ IFG

@ B is twice as old as A but twice younger than F. C is half the age of A but is twice
than D. Who is second cidest ?

BATWAIAEAAFAFAIM @R 1ICHmAIFRLAF0A
dRtipehiggmsRaw I |

@ B (b) F (g D ‘9) C

é.SlJFive friends are sitting on bench. A is to the left of B but on the right of C.Disto
the-#ght of B but on the left of E. Who are at extremes ? o
WMHQ%EIA.B$W3IWC?§H€%’WGIDB pTfed @

Edait 1R waRd g

(@ AB (o) AD (9 BD 9) CE



raries of B,R,G,A and M are compared with one- )
N t?:\:l?al of A & G. The salary of R is less than the three pe:m,';‘""gce"‘zs mc;rse
Q, s least. Whose salary is second lowest 7 @salary 0
BRGAWRMANRAATN G TR AN T L | M ey A
Gaxwt| RAwmA M SN AFt I BRI Ty
el S A TR TR |

@ M B R @ A @ G

Directions: Find the missing number from the given responses in each of the following
question:

Prdn Prevdide ot § seiem wem Ree § 3 |

Q A

.3 2 1 5 3
S e/
35 126 ?
(a) 90 (b) 91 {c) 103 (d) 75

F.
rD
£
)
[~ ]
F-N
o
.\,

Q31.64 B 2
81 25 4
144 16 ?
@ 6 ® 8 & 3 @ 16
Q38
4 10 6
12 95 48
I 16 152 ?
(@ 10 () 104 (& 12 (& 124
, Q.39
: 5 4 41
15 6 ?
11 202

@ 261 (0 212 (© 209 (@) 122




ﬁ The ana .
ir ‘&geig ?gf Ram S doutle as that cf Shyam and hatf as tat of Suresh. If the sum
-What is the age of Ram ?

magm?ﬁﬂmgmwﬁ&ﬂ% Imm{ﬁtzﬂmmtﬂ‘f,a

(g)/ 20 () 30 (© 40 (@ 10

Q.41. Anilis as much younger to Vivek as he is oier to Tarun. If the total of the ages of

Vivek & Tarun is 48 years, how old is Anil 7
WafmramifTicuzcam @I @t IR s o A

5 F AT 48 & A 3T B 9T WA
(@ 20 (M 33 () 24 () 18
If a cat kils 4 rals in 4 minutes, hew many minutes val it take 8 ca’s to kill 8
" e ow R « B ¥ 4 o ot & 4 P B 3 @ e 8 g2 WA
‘9 8 b) 4 (c) 2 d) 16
Q.43. The last three digits of the tinary equiva'ent of the number 85432578 is ?

85432570 &1 W= wABN & wfad i wem @ A |

(8 001 (o) 100 (@ 110 (@ 010

A man takes 6 Km distance to go around the rectangular area. If the area of the
actangle is 2 sq Km find the diffe:ence between length & breadth ?

& TR T HGRTER &3 B) WIS A 6 A ot 2 | ¥R ATEAER &1 H
daFa 2 of frarey & ot o ok feE & v Tl |

(3 2Km (o) 05Km () 1Km(d) 075Km
Directions: Which one of the given responses would be a meaningful orcer of the
fol'owing werds 7
Py Ry 7o Rewd § 27 91 Row @ weid FA T 8 |
@ (@) Ooctor  (b) Fever (c) Prescribe (d) (Dhagnosé

(e} Medicine

b adcber
(@ bacdey :d; o e ar

‘}p) b.a,dce



N

- Q.45, (a)  Brother {(b) Hustand {¢) Father 4-
\. e) Son-in-law ¢

@)  Son

* (@) 32154 _ib) 41253
€ 41523 (d) 31425

Q.47 Which of the following states the relationship betvieen Sociology, Psychology
and Humanities ?

mﬁmmamm.wmmmﬁﬁﬁ&mﬂmm%l

.( ) l . | }(6)
n lr;e following figure. which member represents the women doctor who are not
ergpkiyed

W 3 A #1713 99 1 A @ ffiRa o & St wd a8 2

6 /'11 5 |
\ /{A\ - Employed
/ ; 4 [
] Dcctors
S 7 (b)

In Venn diagram the rectang'e represents WOMEN, the pentagon represents
[REPRENEURS and the triangle represents MOTHERS. The numbers given in the

ciagram represents number of persons in that category.

Rt & R 2 soa wasd # wm @ ) saee e @ ok e Ao @ Tuf

AR Eim i o g e

e T

How many WOMEN are ENTREPRENEURS but not MOTHER ?

mmﬁmmmmm@m
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s
eVenngi ) .
es? MALE diagram which best represents relationship among the givea three

FATHER, B8R
g . BROTHER
P 22t 9, R, ¢ e % e € .

@ . (b) : (© l @)

PART Il : ELEMENTARY MATHEMATICS

@ A fruit seller has a certain number of apples of which 5% are rotten. He seils 75%
rema.nder and he is le with 190 apples. Vvhat was the irtial number cf apples with
fruit sel'er ?
RN THIE WA A5% sva § I R WA AR T5H% M 3 MW
T 190 R TTA & | 3@ RS B TR R A W [/

(@) 1000 (b) QOOy 800 (d) 700

@ Two numbers are in the ratio 3 : 5. 13 is subtracted {rom each, the new numbes
Are’in the ratio of 10 ¢ 21. If 15 is added to each of the ofiginal number then the ratio

becomes ?
ammxgm3:5#cmmmmmmmw:ztmgmﬁn
24 aarnt A T3 W R I W WK I ET |

@ 5:7 b) 23:33 (0 4:5 L(}/ 24135

({.532 Ramesh marks his gcods 30% above cost price. 1f he sells \he item for 910/- after
aloding a discount of 15%, find his cost price ?
?%HMWaﬁm:c%mmaméﬁmw%ﬁugtagnsw.mim%
FA T A mET S
\(;y’ 8235 - (b) 758 (c) 8142 (d) 8565

Q.54 ‘A does 30% of a work in 30 days. He then call ‘B and they together @?nish the

remaining work in 20 days. How long B alone woukl take to do the wha'e -
'A‘w%msoﬁ?ﬂﬁmzm‘&a}mﬁamm@nmmfzﬂﬂ“m !

B 2 3R T oW Fen A & R T |

160
(a) 40 ‘b) 80 @ 120 @




Q.55 it for two real constant a and b, the expression 313*3"’-&.-.15 |

(x+2) and (x-2), then “exactly divisile by
Jg ﬁ‘mm A R e 3 e b ¢ ot FE axedBb 1 o 082} e (x-2) 3
o B R @ A
(3 a=2b=12
() a=12,b=2
{c) a=2,b=-12
@ a=-2,b=12

Q.56 ¥ the diameter of a wire is ¢ecreased by 10%, by how much percent (approx} it
the length be increased to keep the vol constant ?

yTTE M A e & 10% T v & & 3Fh =g e e ) @ ovw A A
Ll

(@ 5% by 7% ) 20% () 23%

Q.57 The ratio of the outer and inner perimeters of a circular path is 23 : 22. If the
path is 5m wide, the diameter of the inner circle is ?

@ TAIR TR H/ SR MR F 57 23 2 sz A sh A A dwd 547 &
N ¥R A TA T TH T AT

{a) &5m &) 110m (¢c) 22Cm (d) 23Cm
Q.58 In statistics, a suitable graph fcr representing the parttioning of total into subpart
is?

FAE A (P I WA A A Tw B B TR W o R A

(3) Anogve (b) apictograph{c) ahislogram (d)  a piechart

59 \The sum of twice a number and thrice its reciprocal is 25/2. What is the number ?

@ 33 T AU T W 1 78 §6 B NS a3 N7 o At w2sR Al A
TX ¥F I R |

210,
AT © 6 @ 5 @ 4

-1!0
Q60 Three numters are in the ratio of 3: 4 : 5 and their LCM is 4200. Their HCF 15 7
72 &7 weTs W = 314 5 B 3R RN JTEm T o0 @ it ITH wrem W

T |
[ O
{ay 70 () 60 ey 20 (d) 15 Ve
S
061 Find the value of 2.8 + (5.2 «1.3X2) -6X3I+8+ 2 ) Io
2.8*{5.2*1.3X2)-5X3¢8*2ﬂmmmﬁmﬂ| e i“%ﬂ;
(a) 645 b) 455 {cp 845 (&) 1055 4



.
8 Ifx=
2+ V3, then the value of x2.x+1 is 2

x?4x+1
SRY=24 V3@ x2x41 w1 v s 1
x2+x+1 o
@ » ® % @ Jgr

j," On a joumey across Mumbai, a taxi average 25 km per hr for 50 % of the d.'rs'.ance.
28 km per hr for 40% of it and 10xm per kr for remaining. The average speed in (kmvhr}

for the ccmplete jouney is ?
g-dahmﬁwto&&%@#haﬁaﬁ@%ﬁd&m%u&h!&%

{a:stoﬁR‘ﬁu;‘ﬁm&hw{ﬂ%fmmmﬁdmmﬁ% RaREH
A e IR ¥R )

(@) 16 9;)’ 18 © 20 (@) 225

Find the wrong number in the sequence 5,10,17,26,38,50,65
TH TH A 70 TS TR 1 .

(@ 10 by 26 (oY 38 (d) 65
Q65 # x + y ¢+ z = 3 and xiey’sz? = 101, then what is the value

of Jx3+y3=23-3xyz ?
sRx+y+2z=3M R +y¥+22=1017 fx3 +y3 =23 -Jxyz &1 |

(a) 28 by 26 {cy 24 (@ 21

€ In a dlass of €0 stucents, 40 % are gir's. The average weight of the who'e class is
ind the average weight of the giris is §5 k3. What is the average weight of the

boys ?
o® T4 A €3 T & e % wsfra 8 | Fe 2 o) T @ ofEn T 59.2 vt E AR
LI & shEn T ss iy 2 mzﬂw.m-mmg;

61K {b) 62Kg (¢} 63Kg (d) 64Kg

@ The ratio of age of two toys is 5:6, after bwo years tte rato will be 7:8. The ratio of

hefr age after 12 yrs wil be ?
Q ATH A ¥ = ST 5:6 8 IR 2 A T TE T 7.8 & A 02 FATT W FFTO

[ !

(a) 21722 ) 15/16 @ 17118 @ 1112

. ; : AL X 1S
@d A canister ho'ds 36 Itr of mixture of milk and waterin a ratio 3:1. 15 Ltr of mi

to the canister. The new ratio of the mixture is ? R
W:ﬁ#wa“a(aaﬁzmmm3n3m“ |15 e o gE TR AT

Fn & oo
(@) 94

(@ 12:5 ity 14:3 @ 74



§ i . fum ‘o_\
Q69 Thesumcftwd pos:tive numbersi1s 20% ofthesumo 'Bir s3uare and 25% of the -
differerce of their squares. If the numbers are x & y then 2!;*2! IS @quai iy o

X ammnmmwsmam%mzf.f“ﬂ“”%“"mnxmy

’.. .
3 M x sy AT 22 rytx3¢
x? W)
(a) 14 (b) 3% ¢y 19 (dy 29

Q.70 The tcp of two potes of height 24m and 26m are connected by a wire. If the wire

makes an angle of 60° with the horizontal, then the length ¢f the wire is 7
HEA M AR 2 A S @ AR A FEE A AR A7 A 60° T W9 TA ¢ A 7R

R af o
(@ 6m B} 8m () 8V3m {¢) 6V3m
@ If the cpposite sides of a quadnlateral and also its diagonal aze equal, then each
ang'es of quadrilateral is ? 0
v Wi B AT w3 TR A ot TR a4 Rl of vt & b v # 7T 8 i
3 3
& % ®) 105 © 1200 (d) 60° x,
;)8.72 gind length cf the arc whose central angle is 45° and racius of the circle is
cm
& 3 et g 28 38 ¢ & grd m&mﬁmmmmmwnmatl
R/
@ 11 (b) 22 © 33 (@) 44 3

@ In a fanm the:e are cows and hens. if heads aze counted they ate 180, i legs are

.ed they are 420. The number of cews in the farm is ? .
TERIMMPT LM AR AMMRAm A At EEan

T 40 R A T I 9@ AR )
{a) 150 {b) 130 (¢ S0 9’ 30

4 sweets are distnbuted among 20 children such that each girl gels 6 swee's

gach boy gets § sveets. The numter of boy is ?
MWD A@A IR TI TR EA w730 A ¢ 2w J63 N s A D ) Font

A w0 37 w1 ITEL |

((j)/ 6 by 7 € 8 (0 9

Q.75 if a sum of money on compcund interest becomes three tmes in 4 years, then at

the same interest rate, the sum will beccme 27 tmes in ?
M e ar 4 I o Ty S QAT o @ @ o I o w22 T R et

Al
(@ 15Years (b) 16Years () _12Yeas  (d) 10 Years




: SARY
76 Simgle inte W W0
. : eston o p- e
m\m" be P tha sum for 10 years is equal lg&ﬁ;nj}e pnnmplg. In how years
TS

e princip'e ?
G“"*““ﬂmmtﬂiﬁms%!}m!1ﬁ'ﬁnﬂﬂmﬁ$mﬁ
a'-"~'.‘T.TI LA

S0 100 o 150 (© 200 () 250

The sum of three consecitive integers is 81. The midzle cne is 7
Mezrgmerradriimuasm e |

(3) 24 (b} 25 (¢} 26 27

Q@I’hﬂ sum of two numbers is 1215 and ther HCF is 81. How many such pars of
numbers ¢an be formed ? '

ST T st MITmImRImTE n e (RO P2 A AL |
a 3 by 4 c) 8. /N) None of the above

Q.79 HJy = ¥4 - V6 then find the value of {y?-20y+12) ?
I fy = VA6 £ B (y-20y+12) 2 5= 1 wm R |

(@ 4 (b) B (cy 10 {d) 12

Q.80 The average of prime numbers between 1 ard 30is 2
1 8 30 0% # 3T FEEA A ofmw s A o

@ 11 ) 12% (©) 12%0 g} 127h

Q.81 Aman covered a certain distance by a train running at the speed of 50 kmvh and

covers the same distance by walking back at the speed of $ Km. If the who'e joumey
tock 5 hw and 30 min, then what was the d:stance {in Km) of one s'de ?

wnﬂmfﬁ#ﬁﬁm&ﬁﬂmmﬁhﬁmgmzmm&mms
MY 7 N A e & s o

T B T Maed @ ' o AR )

@ 18 ®) 20 () 25 (@ 30

QB2 A certam number of men complete a work in 60 days. If there are 8 more men, the
work can be finished in 10 days less. The number of men originally is ?

WA T MAWSAIORTI T rmesc S BAa ol 2 & @ w7 19 7
TR 02K | TH ) P A s s

@ 30 @ 32 (¢ 36 (dy 40



. Directions: The following pie chart shows the expendiure (;, Sar of five \
compasies P.Q, R, S and T in one year 20207 centage) N

h!u?ﬂg?dwéﬂmmﬁadsmmaxnmﬂmvaeu
.

W
Tetat expenditure - 48 Cr T 20% P 24%
33 3% - 49 I
il $16
R| 22
18’:”1 Q
at was the total expenditure in (Rs Cr) of the company Q, R & T together ?
Q, Ra T =< 31 7@ Gt (=3 3) fawan & o
(a) 192 Jp)/ 28.2 {c) 243 (@ 314
Q.84 By how much percent expenditure of company Q & R together is greater than that
of company P ? A 4

QIR & I &t P A fra v'rea o 771 4
(@ 3333% () ©60% (c) ©6667% {d) 75%

Q.85 Two cherds, AB and CD of a aircle meet at a point O, outsice the circle. [tis given
that AB = 7cm, CD=4 cm, OB= § cm. YWhat is length of OD? :
ABIICOCs R A o & M Rga o3 & oz @ & A= &) are AB = 7em,
CO=4cm, O0B=5ane a 0D A 3w = & |

{a) Som (b) Bcm (c) 7.5cm (dd 10cm

Q.83 The curved surface area of a cylincer is 594 cm? and its vl is 1336.5 cm?. What
1s the heght (;n cm) of the cylinder ? .

TS (KT 71 gET? ¥ 84 534 om? & o I aged A s
i 336 5 cm?® Rt A

(@ 114 ® 21 () 245 (d) 10.5

Q.87 Dmesh can row at 18 Km'h in sull water_ if speed of stream is 6 Km/h, then how

long wall Dinesh take to row upto a distance of 6km and return to the staning point ?

: R T2 A s MR NI AT AA(ov) 2w t | az qd) D wrT s
Ffzr o2 v & M AR T 2 A ¢ A Y T wm A Y R W s W
Sate il

(@) 40 Min () 45Mn (€) S0 Min (d) 52 Min

Q.83 If cos 8 = 35, then the valve of sin 818 ?
sTicos @ =5 MSndFET |
@ 23 (&) 45 () 23 (d)can notbe cetermined



89 M3VS + V125 = 17,88, then what wil be the vatue of ¥80 + 6Y5
¥R 3V5 + V125 = 17.88, 2 VB0 + 6v5 & |
&
@ 134 (b) 2045 (c) 2166 @ 223k ==

Q.90 Water contains 14%r % of hydrogen and the rest is oxygen. In 350g of water,

oxygen will e ?
oA A 1427 % s o TR T 8 ) a0 T oF & RIS g o

{a) 300 (b)y 250 (c}y 200 (d) Noneoftheabove.
Q.91 The area of smallest square which can be formed wath rectang’e of dimension
6cm x 4cm, is ?

tcmxdomTd s ATAvo o w&sFITm AMA

(@) 16¢m? (b) 24cm? (c} 36om? (d) 144 cm?
Q.92 The mean propartion between (8 + V15 ) and (32 — 4,f15) is ?

327 (8 + 15} 3% (32 - 4V15) = s*ma 3w #FT |

(@ 14 @® 13 (&) 12 @ 1

Q.83 ifABis paralel to HG, what is the value of a ?
SRAB 1 HG sr=R 2, @ a 33 =7 21 &t )

E
A e —~F B

o

10a+5 D
H G

@ 15 (b} 25 (¢} 75 (d 95

Q%4 Awellis dug 20 mand it has a diameter of 7m, The earth taken out is spread as 3
regular plo! v22 m X 14 m dimension, then height cf the platiorm formed is ?

@ 7 MR ZTW N Hx 20 AR T T ¢ b Prht 1A el B VIZZm X 14m 2SS
W 3 R Jwm & | 5 R # IEE A B

{3} 21m (6) 25m () 2Sm {d) 3.5m

Q.95 Iftan (8) tan (3 /) =1, what is the value of (in degree) 8 7
Stitan B A) tan (28 =1, @ 0

(@) 45® (b} 90° (c) 1CO° (d) 120°



‘H

Q.96 1fx{3-%h) =3, then the value of x2 ¢ 1/x3 s
ymx(3)je i+ IR T TATEDN |

Y fa) 2% () 2% () Ik () 3%

Q.97 The efficiencies of A, B and C ate In the ratio 5:3:2 working logether, they cap
complete a task In 21 hours. In how many hours will B alone complete 40% cf tha
task ?

ABMRCADmSI23yma it immusdmimdrod ity R Azt rd
¢ 1 B3 40% ord it v A b |

@ 28 B 24 (O 21 () 35

Q.93 A boat takes half tme in moving a certain distance downstream than upstream,
The rabo of the speed of the boat In still water and that of the currentis ?

T3 73 TEITY 9 Ry 3 e Ay A a8 o 7a T v A o ot o ot
R ;23 T EM |

(@ 21 () 43 (g 12 {d) 31
Q.99 Find the valueof x ?

XT R ATY |

Log:¥3=1/4

(@ 9 () 3 () 4 @ 1

Q.100 Which of the fol'owing statements in not carrect ?
icRrEcoonE R Rk R - &

(a3} bguwid=1
(®) log(2+3) = log (2x3)
) ‘ogni=0

) leg(1+2¢3)2log1+iog2+ kg3
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1. Paper 2 has two parts : Part | & Part Il
T8 9vA 93 8 T AT & 10T 1 AR v 2

(a} Partl:General Knowledge (S0 marks)
vy 3 ;@A g (50 marks)
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mm 2 : J3A

2. Each section carries 50 objective type of questions.
g@® ¥ ) IRITS TIR & 50 9T Re &
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required to fill correct answer in the OMR sheet with Black ball pen.
TdE gv @ UR AE® R 0§ | Il SRrasaEar 98 g Stour S AR
(OMR sheet) ¥ zr @ 23 @ Wt 1

4. For each correct answer, 1 mark will be granted and 0.5 mark will be
deducted for every wrong answer.
gide wd saw @ Py 1 3% Rar Srew IR Taa 3 faw 0.5 x& T 9I0m

S. if a candidate gives more than one answer, it will be treated as a wrong
answer and 0.5 marks will be deducted. There will be no penalty for questions left
unanswered,

ufkm:ﬂwunqu’sﬁametﬂtmnmwr-nmmo.Sa'am
e | : .

6. Candidates should not mark in the question paper. They can use blank
pages provided in the question paper for rough work. N
Xt gy g3 3 tgﬁﬁmmﬁ#ﬁﬁqm 1 a1d 3 fag vy o3 @ 7y @A

WA 8 w1 guaw BT 4
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Wx\i3m:pmﬁ&ﬁﬂﬁwﬂmtmmllﬁmmnaqﬂmdo‘ﬁ
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@

(3 Copper (b}  Silver
T aid
{c) Bronze {d) Brass
/@ taa
Q.2 Which Mughal king tried to stop the practice of Sati?
Ryttt acm R A dime
(3) Akbar {v)  Humayun
T gy
(c)  Shahjahan (d)  Aurangzeb
mead shardg
Q.3 The Sultan of Delhi, who is reputed to have built the biggest network of canals in
india was
RAZIPa gz s m o e o |
(a) ltutmish (b)  Ghiyas — ud - din - Tughlaq
L5y 0 i g Aaa ] R gras
{c) Firoz Shah Tughlaq (d) Sikandar Lodi
B3 i gres IR E
Q.4 Which caves is a network of sculpted caves located in Mumbai harbour?
WA A =t v @ T g & -
(a) Ajanta {b) Ellora
S=d] Gcl
() Elephanta (d)  Khajuraho
Q.5 The Panama canal links
TR IR TR Femt

Part 1 : General Knowledge
4 AT AT

Which of the following was the first metal used by man?
R wom A R T 3 e R

(3) Pacific and Atlantic Qcean (b) Atlantic & Arc~ e
T IR IS AR s vl

?ﬂ"r\‘
{¢)  Padific and Indian Ocean (d)  Antarctic & Atlantic Ocean
AT M R= vewR WIRE IR wwalds ary
N India is developing Chabahar port in which of the followirg countri
mnm?ntnimm Vg countness
(@) Irag (b} Oman-
s R
: Iran d Pakistan

gfram




Q7 who is the author of the book ‘The White Tiger'?

¢ zriz i gwvs Ddwy fad &
», 7 (a) RKNarayan {b)  Aravind Adiga
(c) Vikram Seth {d) Arundhati Roy
Q.8 Kisan Diwas (Farmer's Day} is observed on?
iR BRI em e ¢
(@ 23" December b) 15" July
(c) 14 December (d) 1% May

Q9 Tre world economic report is published by?
AR R R R s stz s )

{a) Workd bank (b) UNDP
(c) IMF (d) UNCTAD
@ Eutrophication

(a) Is a nonmal process that converts drz land nto marshes
& T 5w @ gl a3 IR 8 Al Fh 2

(b) Is slowed by the presence of Phosphate and Nitrate fertilisers.
B M AL YR AIPT S [ A & |

{¢) s characterised by an excess amount of oxygen in large bodies of water.
SRR TARATTTIIRAR |
/Ldf Is characterised by a rapid enrichment of water body with minera’s and

nutnents.
dm:wwquhmmatmams:

Q.11 Which of the following is not a Directive Principle of the State policy?
7% 3 ¥ A sEiERn RR¥Ta I 2 cfyd =8 R

(a) ;.;;i:s:g?;v:;gfgu%ﬂ.?n_
(c) ;’:;rgrg}:heﬁﬂ;ﬂ;jg‘gtggt% wleaker sections.

Q.12 MALABAR is a Naval exercise between Incia and
mmmwwmwmgﬁwaz |

(3  Singapore o
¢} China (d) gg;a.n

e



0@ In & pressure cocker, cooking is faster because the increase in vapour PreSsqy
SR I ¥ I T O IRD ¢ a0 v wn
(a) Increase the specific heat.
R gmzm 2t "
(b)  Decrease the specific heat.
RIyesmuaid b
{c}  Decrease the bailing point.
WA AT @ ML |
{91 Increase the boiling point.
T mET LML |

Q.14 in 1991, India's first indigenous super computer named was
developed by Vijay Bhatkar,
WA B T T TR FYR 1531, & R R AT 01 |
(a) Prayag 4000 (b) Pragati 5000
TSI 4000 R <00
() Param 8000 (d} Prabkas 6000 -
G 80OCO ofiE E000

Q.15 Adata warehouse is always

¥ 1R wew @

(@)  Subject oriented (b)  Object oriented
fm v T ¥ 38

(¢) Programme oriented (d) Compiler oriented

Q.16 Jalikattu is associated with which Indian festivai?
afeeee AR et | 9 Em & |

~

Onam (b) Pongal
3 kos] Lec
¢c) Bhu (d) Hornbill
(c) . I
Q.17 Wrich of the follcwing countries have an unwrit'en constitution?
R R 58 & 3w sfa &) ¢
USA (b) UK
. st a2
¢) lan (d) Pakistan
Q.18 Supemovais
[ T
/ .
E jaf Comet (b) Asterod
T Lt

: : d)  Black hole
() Explodnr?;q Star (d) ey




‘ 0‘19 The largest tiger reserve inindia is

_~m#mmmﬂaﬁm‘nmt [
. - {a) Pench (b] Manas
‘ e T4
¢ ¢)  Nagarun (d) Corbett
o AR ’ 7w
Q20 Sararais located in which part of Africa?
R M ARt
{3) Eastem : ) Westem
= )
(c) Northem (d) Southem

Q.21 Which among the following ccmes uncer the primary sector of Indian economy?
A B A AR Wi naER B eI dRI F A

{a)  Sugar Industry ) Dai
oA sdm b g'c:ga
{c} Banking ’ (d) Transport of Goods
o] A & T

Q.22 Aswe go from equator to North pcle, the va'ue cf ‘g’ {the acce'eration due to
gravity)
x;mtm%gn?.maﬁa'g"?tga:

“

(@) Remains the same {b) decreases
T =t oz 8

{¢) Increases (d) None of the above
wm 8 : Az

Q.23 Ozone layer above the surface of earth provides a shield against?
7 A 343 R fFEs TR ¥ T |

(a) XRays _Ab)  Uttra violet rays
() Gamma rays (d) Infra-red rays
Q24 Which foreign country is closest to Andaman Islands?
21 W 2N FoTA U FE A WA AT 21
{3}  Srilanka . Av)  Myanmar
(& Indonesia (d) Paxistan

2 wcﬁq is connected Wil
ANY RAAIER )
(@) 1ssue of currency (Y~ Exports and Imports
©  Publi gexpenditure  (d)  Noneof the above.
el P a9 78



Q@ Convertibility of rupee implies
W B oA A T T R

(a) Being able to convert rupee notes into goid
TWE B ¥ A wheffa 3 %

(b}  Allowing the value of rupee to be fixed b '
y market forces.
T el 2 vw 3 R Prika w1

Freely permitting the conversion of rupee to other currencies and vice-
versa.

T I A 53 A IR KA T A T IR feadmm

(d) Developing an international market for currencies in India.
T SR =7 TR B S 0

Q.27 Where did Buddha preach his first sermon ?
/ 4 A Rra 9T FEn Gre I fam ‘

() Kasi {b) Sarnath
(c) Kushinagar (d) BodhGaya

Q.28 The only country in the world whose flag is not square of rectangte is?
gﬁmmmmmtmzﬁmmmaﬂmsmaﬂé 1

(@) Srilanka (p) Bhutan
() Maldives o) . Nepal

Q.29 Which one of the fallowing Grand Slam titles is also knovn as ‘Rolland Garres'
tite?

wammmwammmmmmg \

(a) French Open (o) Wimbledan

(c) USOpen (d)- Australian Open .

Who was the first woman President of the Indian National congress?
mmmmmw&’mmmm !

}a) Mrs Anne Besant () Sucheta Kr?plani
(c) Indira Gandhi (d) Saropni Naidu
Solar eclipse occurs when
T Eu Fe
(3)  Earth comes betwveen Sun and Mocn.
o gt d o W 3 R A |
(b)  Moon is at right angle t0 the earth.
o e e D e A g d )
\/(E} Moon cames between Sun and earth. -
W T3 T IRl 3 LT 3 g

(d)  Sun comes between Macn and earth.
m@mmm#miﬁmz |



‘' {a) BSBedi ® BS
Chandra §
(c) EAS Prasanna (d)  Harbhajan Sin;ﬁhar

Q@The first woman to climb Mount Everest was?

@R % ort o wd "ot T AW oo |
(@)  Marie Jose Perec ) Florence Griffith Jo
; b ner
(¢)  Junko Tabei /8) Jackie Joyner Kersie
Q.34 Which of the following causes variations in the genetic material of
FA A ST T A SRad T A Pod A A B B | Feogenid
" Sexual reproduction ()  Asexual reproduction
7 T JAfires v
(M)  Mutatons (IV)  Epigenetic changes
Rads SR e
@lonly  (b)lland IV (c) 1. 1l and IV (d) | and il
Q.35 Shock absorbers are usually made of steel as it
NF IRAR 9 R @t 777w o &
(3) s not bnttle (b)  has lower elasticity
wR T R 7 dra ghn @
(¢)  has higher elasticity \, (d)  has no ductile property
W] & i & A T T A& R
Q.36 Which of the following is a tiodegradable waste?
AT T IRRTIA 2 |
(a) Nylon (b} Plastics
J&)  Wool (d)  Polyethere bags

Q.37 Tte first stable preduct of photosynthesis is?
mmmqumv&rcmammg I

}
(3) Starch o (b)  Sucrose
()  Phosphcglycesic acid (d) Glucose ;
Q.38 Narain Karthikeyan is a sportsman in the field of?
T2 iy ra d@ A LT R |
(a3 Goff (b} Chess

(@) Shooting (d}  Fermula one car racing



Q.39 The process of arran

ging data in logical sequence is cafied?
mmqmammmamammzu -
’
(@)  Classifying (®)  Reproduci +
{)  Summarising ,(d; soeﬁiﬂgumg

Q.40 Who among the following has not vion Nobel prize ?
v A R I g 38 da d P
Aa)  Jawahar Lal Nehru (b)  Kaflash Satyarthi
{© H.G.Khorana (d)  Mother Teresa

Q.41 Addition of gypsum to cement
T e 2 A

(3)  reduces setting tme of cement.
T T W T A wwa f

(b)  produces very light colour cement.
&P 3 o Wi T 8

(c) increases setting time of cement,
TREIT@Amt

(d)  shining surface is formed.
EAFN g AT f |

42 |Which of the following organs dces not efiminate waste products from the bocy?
MAMM TS T RN e 3o Aemm & 4

A3) Large Intestine (b) Liver
Zd A fam
() Kidney (d) Skin
= Lo @
Q.43 Wrich of the following is not correctly matched?
WaMmmBA A AN 3 )
(@) War Saw - Poland (b) Rotterdam - Australia
{¢)  Karachi - Pakisian (d)  Oublin - lreland

Q.44 For determination of which of the following is carbcn dating method used?
WA P M ITA B I Nm T 2

(@) Fossils (b)  Rocks
W werm
Trees (¢} A&Babove

& Tree A

Q.45 In which stadium did Sachin Tendulkar complete his 100™ century?
fra ®i¥mm & w7 dgaw 3 10ch BT T A |

(a) Eden Garden (b)  Shere Bangla Stadiym
{c}  Firoz Shah Kotla Stadwm {d)  None of the above



%46! F‘°m which country did Irdia procure the aircrail CAIEt A B o
join Indian Navy as INS Vikramaditya?
malysmmm mA Tl
. (@)  Russia (b)y Germany
{c) Ukraine (d) France

Q.47 The office of Lokpal and Lokayukta in Indiais b ; o
T e e g & o ot  wta | ased on which of the folloving?

(a) Pariamentary Commissioner of UK
Ombudsman of Scandinav:a

{©) Procurator General of Russia

(d) Council of state in France

Q.48 Vo s the first Air Chief to receive the honour of Marshai?

ages 3 w5 B A W R F .
fa)  AqunSingh (b)  Satish Kumar Sarin
() SKMehta (d)  Yashwant Tepnis

36 banking sector, C stands in CBS for ?
Py az ICRSAC w3 W o 2

/(a} Credit ®) Core
(c) Contingent (d) Complete

Q.50 The executive powef refating to concurrent subjects remain with?
ol Ay dsteA TR s ca g t

(a) the states i (o) tre Centre
T 71

{c) the constifution (d) the President
R T

Part 2 : English
sy 2 2 30

Directions: Read the passage below and answer the questions that folow : -

: No ore can look back cn his schooldays and say wih truth that they were
attogether unhappy. | have good memories of Oak Grove's, among 3 horce of baguc:‘-:f-
Sometimes on summer aftemoons thete were wonderful expeditions across the no
a vil'age called Tsango Gap, of to Birchha lake, where oné bathed dangerously amoidg
the boulders and came home covered with cuts. And there were stll more wonderful miG-
summer evenings, when as 3 special weat, we were not driven off to bed as USU?"UU‘
allowed to wander about the grounds in the fong twilight, ending Up with a plunge In'0 3
swimming Eathe at about nine o clock. There was 2 joy of waking early Omeé
mornings and getting in an hours undisturbed reading (Premchand. Ruskin o
- Wells, Anton Chekhov were the favourite authcrs of my chidhood) in the suniit .eegdng
dormitory. There was also cricket, wikich 1 was no good at but with which | m?d*;d ; ;
sort of hopeless tove affaif upto the age of about eighteen. And there was the 3;685% .
keaping caterpillars — the siky green and purple puss-moth specimen of which cou




PR TR T

“‘(:'w ‘
engu purcha k: K
gh ff seﬂ fo : . shop in the town- and, when one could e <
0 r S eatd op 2 A R S% t
lhe dew m the mas‘elt f:‘:: was ‘tatking the walk’ there was tha excuemem

; of dregg;
bus' nd normous newts with orange colour Gredgng Q
in S On the Duns for the €N 3 roured beflies. ;
”len es_s of being out m’; wa'k, coming across something of fascinating 'miere:q:: %
th being dragged away from it by 2 yell from the master, like a dog jerked Onwartis by
st.e leash, is an important feature of school life and helps to build up the conviction, so
1ONg in many chikdren, that the things you most want to do are atways unattainatte.

31 Ywe can infer that the author was a
(a) disobedient student
{(b) lcnely ¢hild

) /Lc) mischievous boy
' {d)  studious boy

Q.52 Why does the writer call cricket a hopeless affair ?
(3) He was forced to give it up.
(®) Hedd notplay it all.
{¢) He played it secretly.
(d} Hetred hard to leam it.

@‘\‘me:e ore bathed dangerously”. Why the writer call the bathing dangerous ?
(a) They were punished later.
(b) There were snakes in the vater.
«{c)  Theboulders gave them bruises.
(d)  The water was too deep.
C% What is the ‘moral” the boy draws from his chi'dhood experiences ?
«43) Things you enjoy doing are always unveachable.
{b}  Only do the things that masters tell you fo.
() Do notwak aione in the grouncs.
(© Do rotcollect insects Lke caterpillars.

@ Which of the followir:g the beys not do on summer momings 7
{8} Read inbed. .
{p})  Sleep untillate.
{c) Play cricket
(d) Colect calerpillar

Directions: In the following questions, some part of the sentences have €rrors and some

are correct. Find out which part of a sentence has error. The number of that part is the
answer. If a sentence is free from error, your answer is “No erfor.

(@ A semior doctor (1) / expressed concern (2) f about ghysician's recommended the
va ne\{}ff No error {4)

Q57 “The Arabian Nights” (1) are indecg2) 1 an interesting book (3)/ No error (4)

QB8)A chil wind blew (1) / and icy fingers of death (2) ferept up my spine (7.

No rcr&f

QG@They dreamed of a society (1) Avhere everyone (2)/ were equ3l $3) I No error (4)

Q.E0 Her behavicr (j] i arourd him (2) Awas littlz oddly (3} No errcr (4)




Directions: In thess questions, out of the foy
exprepes the meaning of the word given in the bo'g.

\
Q.61 Loquacious
{a) takative (b
(c) content {d)
@ Bliss
(@) pleasure (b)
Je)  happiness (d)
Q.63 Labyrinth
(a) meandenng (b)
{c)  pacing (d)
‘€& Conscientious
(8)  concentrated At}
(c)  scientific (d)
Q.65 Fustian
(3)  unpretentious (b)
(c) arrogant {d)

r alternatives, chcose the one which

slow
unclear

fantasy
faughter

rotating
wriggling

honest
false

timid
courtecus

Directions: In the questions, four altematives are given for the Idiom / Phrase in "bold’.
Choose the altemative which best expresses the meaning of the idioms / phrase given in

bold.

-

C@o show a clean pair of heels
(3} tohide oy~ toescape

{¢) tfopursue (€)

a little gush of gratitude

(a) gradual recovery Ab)

{¢)  excessive labour (d)

0@9 to get wind
(3) 1o forget A)
€ totell (d)

Q@ a man of straw

(@  anunreasonable person {bf

{€©)  averyactive person (d)

10_was plaln sailing
vias very easy (b)
©  was competitive (d)

to follow

friendly feeling
excessive enthusiasm

come to know
to meet

a man of no substance
a worthy fellow

was compEcated
was uncomfortable



Birections : Inthese questions, out of the four alternatives choose the one which ¢an bée
substituted for the given words / senlence.

Q.71 Aperson very reserved in speech v
(a) confident ) (b) reticent
{¢)  eloquent (d) adamant
Q.72 Free from punishment
{a) postenty {b)  sloicism
(c}  impunity {d) wrath
Q.73 A person who devotes his / her life for the welfare of others
(@) altruist {by  hermit
(c}  volunteer {d)  martyr
Q.74 Excessive desire 1o work
(@) ergomania {b} idolomania
(c) islomania {d} ethnomania

i).?S Speaking with stammer or lips

(3} melliloquent (b) dentiloquent
{c) fatiloquent (d) stuttering

Birections: In these questions, sentences are given with blanks 1o be filled in with an

appropriate word (s). Four alternatives are suggested for each question. Choose the
correct alternative out of the four alternatives.

Q.76 How did these things come ?
(a) about (b into
' (¢} at {d) down
Q@ | haven't bu'ter but i have a lot of bread.
(@) alotof (b) little
Jp) much (d) some

Q@ Itis difficult
(3) showering
{¢) shower

affection on her,
to shower
(d}  of showering

Q.79 1a'ways fal old frierds in times of need.
(@) over

through
() backon Eg} off

Never give your friends

S
_ (3)  thecoidam (b) the cold eltow
/(t’l the cold shoulder (d) the cold hand



Directions; I these questions, four words are glven ou of which only ong is mis.spelt.
Find that mis-spett word.

Q81 {a) telepathy ()  antepathy
* ¢} sympathy (d) apathy M
Q82 (a) adversery (b)  adultery
{c) advisory {d) arbitrary
Q83 (a) impetuous (b) ignoble
()  lkgncminicus (d) idiosyncrasy 6%;—
Q64) (af  accellerate {(b)  exaggera's oyy
() liderate {d) perpetrate
{af  acquaintance (b)  appeasement
{c)  abnormality (d) accentuate

Directions: Inthese questions, the sentences have been given in Active / Passive voie.

Frem the given allematives, chogse the cne v/hich best expresses the given sentence in
Passive / Aclive voice.

Q2 | remember them taking me to the zoo,
(@)  Iremember having being taken to the zos.
(B) I remember to be taken 1o the zoo.
(€) lremember being taken to the zoo,
(d) 1remember | was taken to *he zoo.

QG We must endure what we cannot cure.
()  what carnot cured must endured.
(b)  whatcould te cure must be endured.
(¢) » whatwe cure must be endured.
what cannot be cured must be endured.

0@ 1 have made all the reservations,
{a)  Allthe reservations are made by myself.
(b)  The reservations are made by myself.
At} Allthe reservations have teen made by me.
(d) None of thesa.

Q.89 Who did this ?
(3}  This was done by who ?
() By who this was done ?
{¢) By whom this was done ?
J9) By whomwas this done 7

Q_@ The mechanic uses o!d spare parts for the car
(@)  Old spare parts were used for the car by the mechanic
()  Oudspare parts was used for the car by the mechanic.
(€} Ok spareparts is being used for the car ty the mechanic.
\(,d}’ Otd spare parts are used for the car by the mechanic,




Directions: In these quesfions, the frst and th ' are
numbered 1 an e last senlence of the passage

8. The rest of the passage are numbered 1 & 6, The part of the passage
Ur parts and named P, Q, R and S. These four parts are not given in their

Read the sentences and find out which of the four combinations is correct.”

is spit imto fo
preper order.

Q.91 (1) Eventodayin many countries
(P)  neglected and these are for
(Q) women centinue to be
(R)  who have had the benefit of
(S) fever, women than men
(6) educational and vocational training
(3) PRQS (b) QPSR
{0 RQPS {d) SQRP
92)(1) Computers and mobile phones
: oR S P
(P)  grammar and reducing
(Q) aretumingusinto
(R) lazy writers ’
(S} ruining our spelling and
{6) ouraltention span.
fa) QRSP (b) SPQR
{c0 QSPR (d) SRPQ
Q83) {1) Inthe first year of this reign, Asoka was an autocrat.
(P)  The efiect of slaughter on his mind was profound
(Q) He was successful but thousands were slain in the battle. R &P 5
(R}  About the ninth year he decided to conquer Kalinga.
(S) This caused a sudden change of heart.
(6) He joined the Buddhist community and tecame a monk.
(M RPQS (i) RSPQ
(iy  RQASP (i) RQPS
Q.54 (1)  Vegetananism promotes a natural way of life.
{(P)  Avegetarian's bfe - style 1s natural and hea'thy.
(Q) Despite its message of universal love and non-violence, it has not soread.
(R) Itis best cultvated in the mind.
(S)  This may be because itis an imward looking habit.
(8) Food and health are closely related.
(3) QSRP {by PQRS
(¢} QRSP (d) PRSQ
Q95 (1}  The fame of Bacon as a creative witer rests mairly on his essays.
{P}  The term is derived from ‘essai’.
(@ W may be perhaps desirable to write something on ‘Essay’,
(R) 'Essai’ mears experiment, attempt,
(S) The essay, cavers an enarmous range ¢f composition,
{6) Instyle the essay is often self-tevelatory & illustrative,
(3} PQRS (b} QPRS
{¢) RPSQ {d} SPRQ



‘ n the botd.

a 96 Analogue.
(a) Corelate
{¢) Dialogue

.
1

- On\97) Procrastinate
(a) Expenment
{c) Exclude

Q.98 Adept
{a) lgnorance
{¢} Lacuna

Q.99 Impoverished
(a) Pure
(¢} Important

Qizzare

(3} Droll
& Ordinary

(b}
(d)

A

(d)

(b)
(d)

(b}
(d)

(b
(d

/ections: In these questions, choose the word opposite in meaning to the word giv

Cognate
Difference

Expedite
Propagate

Inept
Inexperience

Affluent
Efficient

Ridiculous
Comical
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